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UNLOCKREG();

[/[External 4~24 MHz (write-protection bit)
SYSCLK->PWRCON.XTL12M _EN = 1;
while(SYSCLK->CLKSTATUS.XTL12M STB == 0);
[/[External 32.768 kHz (write-protection bit)
SYSCLK->PWRCON.XTL32K_EN=1;
while(SYSCLK->CLKSTATUS.XTL32K STB ==0);
//Internal 10 kHz (write-protection bit)
SYSCLK->PWRCON.OSC10K_EN=1;
while(SYSCLK->CLKSTATUS.OSC10K _STB == 0);
/[/Internal 22.1184 MHz (write-protection bit)
SYSCLK->PWRCON.OSC22M_EN=1;
while(SYSCLK->CLKSTATUS.OSC22M_STB == 0);
LOCKREG();
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/IDrvSYS_SelectPLLSource, 1=22.1184MHz, 0=12MHz
SYSCLK->PLLCON.PLL_SRC =0;

/[ Fout=(Fin)*(FB_DV+2)/NO /(IN_DV+2)

// Fout= (12M)*(FB_DV+2)/3/4

SYSCLK->PLLCON.FB_DV =50-2; /INF
SYSCLK->PLLCON.IN DV =3-2; /INR
SYSCLK->PLLCON.OUT_DV =3; [/INO:00=1,01=2,10=2,11=4
/. Disable PLL power down mode, PLL operates in normal mode
/[PLL OE (FOUT enable) pin Control, 0 = PLL FOUT enable
SYSCLK->PLLCON.OE = 0;

/[/Power Down Mode,0 = PLL 1s in normal mode
SYSCLK->PLLCON.PD = 0;

//Internal PLL Clock Source Stable Flag

while( SYSCLK->CLKSTATUS.PLL_STB == 0);



//HCLK clock source select (write-protection bits)
SYSCLK->CLKSELO.HCLK_S=0;

//HCLK clock frequency = (HCLK clock source / (HCLK_N + 1)
SYSCLK->CLKDIV.HCLK_ N=0;

r HCLK_S (CLKSELO[2:0])
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Cortex-MO p % 73 SysTick pFFéa i v 125 # CPU PFréa s’ ¢t IR da
(SYST_CSR[2]) -

SysTick->CTRL &= ~(1<<2) /lother clock

SysTick->CTRL |= (1<<2) //Core clock

//Cortex_MO SysTick clock source select (write-protection bits)
//0=12M,1=32.768k,2=12M/2,3=HCLK/2,7=22.1184M/2
SYSCLK->CLKSELO.STCLK_S =0;

221184 MHz _’_m
HEIK et ) s CPUCLK |
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92,708 Az » 001 SYST_CSR[2]
4~24 MHz wul S
CLKSELO[5:3] A/
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% Tk d SysTick

[[: SYST_RVR=SysTick reload value=2"24-1
SysTick->LOAD = 16777215;
/[: SYST _CVR=SysTick current value

SysTick->VAL =0;

I/ SysTick =core clock, and start
SysTick->CTRL = (0<<2) | (1<<0);

% * debug > 2% SCS - 4R
SYST_CSR: control

SYST RVR: reload value
SYST CVR: current value

Property Value

SYST_CSR 000000001
SYST_RVR Ox00FFFFFF
SYSTCVR T
NVIC_ISER
NVIC_ICER

SYST_CVR
[Bits 31..0] RW (@ OxEQQ0QEQ18) SysTick Current Value
Reqgister
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2k Z_core clock=12M

SysTick=clock %k /& i * core clock

2% T PWMerclock %k ik g # 12M » ﬁi%lz'i = 6M o

*® TPWM:ik # 5 60000clock - & #57 100 B PWMik #p -
1.1 * SysTickz*+ & — B PWM:it #p ciclock#k

2.1 * SysTickz* & - #) » PWMit #p siclock#ic p
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[[: SYST_RVR=SysTick reload value=2"24-1

SysTick->LOAD =16777215;

I[: SYST_CVR=SysTick current value
SysTick->VAL = (0x00);

//start SysTick

SysTick->CTRL = (0<<2) | (1<<0);

[/PWM-Timer 0 Enable (PWM timer O/A and 4/ B)

PWMA->PCR.CHOEN=1;

[[PWM function->0:Disable, 1:Enable

//=1 when PWMO down counter reaches zero

while(PWMA->PIIR.PWMIF0 == 0); //120032clock

SysTick->CTRL=(0<<0); //stop SysTick
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counti=0;

/[: SYST _RVR=SysTick reload value=2724-1
SysTick->LOAD = 12000000;

I[: SYST_CVR=SysTick current value
SysTick->VAL = (0x00);

[/start SysTick

SysTick->CTRL = (0<<2) | (1<<0);

[/PWM-Timer 0 Enable (PWM timer 0/ A and 4/ B
[/PWM function->0:Disable, 1:Enable
PWMA->PCR.CHOEN=1;



2L 5 PWM- #)#, {7 eh=t

//wait for SysTick dount down to O
while ((SysTick->CTRL & 1<<16) ==0)

{
//=1 when PWMO down counter reaches zero
IF(PWMA->PIIR.PWMIF0 == 1)
{
PWMA->PIIR.PWMIF0=1;
counti++; /=101
¥
¥

SysTick->CTRL=(0<<0); //stop SysTick
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2k Z_core clock=12M
SysTick=clock %k /& i * core clock
2% T ADCeclock % a2 * 12M » ﬂi%l 5 12M o

1.7 * SysTick:* & — B ADCi¥ #p sclock#ic P
2.1 * SysTickz* & — #) » ADCerclock#ik P
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[[: SYST_RVR=SysTick reload value=2"24-1

SysTick->LOAD = 16777215;

I[: SYST_CVR=SysTick current value
SysTick->VAL = (0x00);

//start SysTick

SysTick->CTRL = (0<<2) | (1<<0);

/[ A/D Conversion Start

ADC->ADCR.ADST=1; //1 = Conversion start

// wait for ADC complete, 1=A/D Conversion End Flag

while(ADC->ADSR.ADF == 0); //60clock

// clear A/D Conversion End Flag

ADC->ADSR.ADF=1;

SysTick->CTRL=(0<<0); //stop SysTick
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counti=0;

/[: SYST _RVR=SysTick reload value=2724-1
SysTick->LOAD = 12000000;

/[: SYST _CVR=SysTick current value
SysTick->VAL = (0x00);

[/start SysTick

SysTick->CTRL = (0<<2) | (1<<0);

/[ A/D Conversion Start
ADC->ADCR.ADST=1; //1 = Conversion start



25 ADC- #5447 eh=% dic

//wait for SysTick dount down to O

while ((SysTick->CTRL & 1<<16) == 0)

{ IF(ADC->ADSR.ADF == 1) //A/D Conversion End Flag

{ //A/D Conversion Result

ADC result=ADC->ADDR[7].RSLT;
// clear A/D Conversion End Flag
ADC->ADSR.ADF=1; //clear flag
/[ A/D Conversion Start
ADC->ADCR.ADST=1; //1 = Conversion start
counti++;

¥
SysTick->CTRL=(0<<0); //stop SysTick
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